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Question Number : 1 Question Id : 70819116504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819154661, 133 %

70819154662, 1-03%

e
70819154663, 1-13%

.
70819154664, 1-30%

Question Number : 1 Question Id : 70819116504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154661, 133 %

70819154662, 1-03%

e
70819154663, 1-13%

.
70819154664, 1-20%

Question Number : 2 Question Id : 70819116505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particlc- is pmjected with velf}cit}f g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par’ricle stops :

21:'{:;
3a
70819154665.

1
31-‘{2} 2
2o
70819154666.

33% _3
2w
70819154667.

Options :

P | =




1

205 3
3w )
70819154668.

Question Number : 2 Question Id : 70819116505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1
211{% 2
3on
70819154665.

i3
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2o
70819154666.

33:& _3
2a
70819154667.

[ 3a )
70819154668.

Question Number : 3 Question Id : 70819116506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A circular hole of radius [—J is cut out of a circular disc of radius “a” as shown in [ igure. The

centroid of the remaining circular portion with respect to point ‘0" will be :

A Y-axis

Options :

70819154669, ©

5

—a
70819154670, ©

=
70819154671.

10

—a

70819154672, 11

Question Number : 3 Question Id : 70819116506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



-, a - -,
Ba® (w493 4AT, G4 ‘a’ AT JEFF AFTS [EJ AT OB JTFE 'Y F SFe1edl (arg | T
UF JEFE T*HE & ‘O ACHATF “centroid’ 27 :

A Y-axis

Options :

70819154669, ©

70819154670.

70819154671.

70819154672, 11

Question Number : 4 Question Id : 70819116507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rj = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :

70819154673. LN

70819154674. o

70819154675. 4583 N

70819154676. IR

Question Number : 4 Question Id : 70819116507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TEE (T G PRTEAAS 5T 95T ST 49 N | AT GIF I TADAG 2HH ST [FA (Al
GM <
TW? [g= L2 =98ms 2 o ARET AP, R=6400 km]

Options :

70819154673. TN

70819154674. i

70819154675. T

70819154676. 9L N



Question Number : 5 Question Id : 70819116508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2{y—1)
70819154677

RT
2(y — 1)

70819154678.

70819154679, RTIn 2

70819154680. 0



Question Number : 5 Question Id : 70819116508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT[InZ - ]
2(y-1)

RT
2(y - 1)

70819154677.

70819154678.

70819154679, RTIn 2

70819154680. 0

Question Number : 6 Question Id : 70819116509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819154681 continuously lose their energy tll it reaches wall.

70819154682 continuously stick to the walls of container.

are attracted by the walls of container.
70819154683. .

70819154684 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7oTed STSAm OF S, (IR ST 2T FTT FET TAT FHPIACE -

Options :

20819154681, TIeCa FZed *f& czwam, @fEAtaTe Aaq o =l T
AT a9 P w9l AT |

70819154682.
AT +[0A T4 TSRS 2|

70819154683. S
G i IR 2 S
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Question Number : 7 Question Id : 70819116510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E’l‘ Mg sina

70819154685.

1 2k

2 Mg sina
70819154686.

1 [k

2o Y M

70819154687.

1 | k
21 .VI 2M
70819154688.

Question Number : 7 Question Id : 70819116510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1 k

O R
70819154685, 27 Y Mg sina

1 2k

2w\ Mg sina
70819154686.

1 2k

27 Y M

70819154687.
1 [k

PR Y
70819154688. 2w\ 2M

Question Number : 8 Question Id : 70819116511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819154689 C€ircu lar

elliptical
70819154690.

parabolic
70819154691.

st‘raight line
70819154692.

Question Number : 8 Question Id : 70819116511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CIfea 951 F412 7= “1fgE sfoe 5ife 0@, a1 T2 w0l @59 Fhad 957 27

Options :

70819154689, 1°

Question Number : 9 Question Id : 70819116512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equations represents a travelling wave ?



Options :

y=Ae*cos(wt — )

70819154693
2
e T P U8
70819154694, Y= ¢ (V1+0)
= Asl Ty
70819154695, Y = Asin(15x — 21}
70819154696, 7 Asiny coswl

Question Number : 9 Question Id : 70819116512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T (RS AAPACE ATGAe TH29F THH ?
Options :

y=Ae"cos(wl — 0)

70819154693
' 2
S ot iy D8
70819154694, V= ¢~ (vl +0)
== 7 u )
70819154695, ¥ = Asin(15x —21)
70819154696. Asiny cosml

Question Number : 10 Question Id : 70819116513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
5 1
[ ’ ]2
2 2
TEY md
70819154697.

Y
2" P
TER md?'

70819154698.

"

(TI'EZ[] md” ]2

2 2
q
70819154699.
1

{ZTE[} md” ]E
qZ

Question Number : 10 Question Id : 70819116513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

Pd | =

)
| B
( ZTFE{], J'mi":E ]
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70819154700.
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Question Number : 11 Question Id : 70819116514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819154701, 222 A
70819154702, >0 A
70819154703, 237 A

70819154704, 9 A

Question Number : 11 Question Id : 70819116514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



foae (wyea IGANGIe, BIEGT MZAY @32 R=2.0 () [A14F9 @14, 51 @7@2 L=2.0 mH T=9
HEE I E=9 V T[4 e 557 3919 G5 S tareaT ALAens SIg | 536 'S’ 9 $49 s Al
#qfee fage ' 3 W 27 :

-
> R
3k T R L
i
E=9V]- a
R
AT TN
R
Options :
70819154701, 220 A

70819154702, >0 A

70819154703. 337 A

70819154704, 9 A

Question Number : 12 Question Id : 70819116515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft fermmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819154705, ncrease in size but no change in orientation.

70819154706. decrease in size and changes orientation.



70819154707, May Increase or decrease in size and change its orientation.

70819154708, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@4 AZ: GIAT CFES GOT (FIHE (Z FTIA *WLF 471 (| BT T (domain) I,

Options :
20819154705, T 3 = T (FF SEEH (orientation) I T T2 |

70819154706, N R A W (IS S@ETT A 24|

20819154707, PR 2P A1 IME 277 #0T AF TA (FNF TZII T 23|

52 FIF CFEd (0T (FIl |
70819154708 R a2 T A2

Question Number : 13 Question Id : 70819116516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819154709, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819154710, @-(vi), (B)~(iv), (©)-(i), (d)-(v)
70819154711, @)-(i1), (0)-(1v), (c)-(1), (d)-(iii)

70819154712, (@)-(ii), (b)-(iv), (¢)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



oiferst - 1 7 tire Sfferst - 11 framn)

Tt - I SIferT - 11
(a) TICHTST F=AFT TH (i) fsdTRe (ouhET AT
(b) TETEAIRS F=#wEFq T (i) GG
(S T T (i) SRTmT £l E
(d) 98« qfer Tex (iv) T-*@GT FE
(v) e (LASER)
(vi) RC T&at
T AFEE “41 WE 5@ qI5 F4 |

Options :
70819154709, @F (V) (B)-(¥), (€)-(D), (d)-(iv)

70819154710, @-D), (D)-(iv), (©)-@), (d)-(v)
70819154711, @), (b)-(iv), (€)-(1), (d)-(iii)

70819154712, (@)-(), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819154713, e fringes will become brighter.

70819154714 consecutive fringe lines will come closer.



70819154715, the intensity of minima will increase.

70819154716, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ifirz 327 5-Taw +AFC T97e (1239 BT T8T #[@1 (AT (7 el F4T 2 ¢
Options :

AR S Toga (2 R

70819154713.

20819154714, T AGCT 7YZ @54 BT SfEA |

70819154715, 4= 9 (minima) 7 91§91 3T T4

70819154716. R Teg b OB THP #ioie FHmA 279

Question Number : 15 Question Id : 70819116518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819154717, 107 nm

2
70819154718, 10 -~ nm

3
70819154719, 107~ nm



4
70819154720, 10 % nm

Question Number : 15 Question Id : 70819116518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1.24 FIfeE S5 @b G TAF I FAA (2| TeAA @A FH AT Frew aeeted 277
Options :

1
70819154717, 107 nm

)
70819154718, 10 - nm

3
70819154719, 10~ nm

4
70819154720, 1077 nm

Question Number : 16 Question Id : 70819116519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a proton and a-particle are equal. The ratio of their velocities
18 :

Options :
70819154721, +:1

70819154722, 12

70819154723, 43



70819154724, 1:4

Question Number : 16 Question Id : 70819116519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G5 #'5°T WF o-FT T ST FAR | A (IR TS 2T
Options :
70819154721, 4°1

70819154722, ++ 2

70819154723, 413

70819154724, 1:4

Question Number : 17 Question Id : 70819116520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819154725, =2 to n=1

— =j
70819154726, H=3 ton=2

n=4 ton=>3
70819154727.

70819154728, M2 ton=4



Question Number : 17 Question Id : 70819116520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T'qq AqAN WE WP, T P ALEFNA (transition) ATT FAE A 2 T ?
Options :

70819154725, N=2 to n=1

n=3ton=2

70819154726.
—4 ton=3

70819154727, - O 1

70819154728, M7 ton=4

Question Number : 18 Question Id : 70819116521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819154729 lightly doped and have narrow depletion layer.

70819154730, 1ghtly doped and have wide depletion layer.
heavily doped and have narrow depletion layer.

70819154731.

70819154732, heavily doped and have wide depletion layer.

Question Number : 18 Question Id : 70819116521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

GG p — 1 GG T TS (A (GFCCH 2 Q@A p TF 1 LA S
Options :
70819154729, TOTSIE (E 41 27 IF B e oA (depletion region) T7F 291

70819154730, ool ceTo: F91 2T o e wes 925 29|

: iy 3 HE & F ] b |
10819154731, TENEE ST (heavily) TEIPI: F1 1% R w46 (0F 23

20810154737, AT SICA (Tfre 41 oIRF 4% et 321 23

Question Number : 19 Question Id : 70819116522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.
Statement 11 :  In the study of transistor, the amplification factor (§ indicates ratio of the

collector current to the base current.
In the light of the above statements, choose the correct answer from the options given below.
Options :
70819154733, both Statement I and Statement II are true

70819154734 Both Statement | and Statement 1l are false

70819154735, Statement 1 is true but Statement 11 is false

70819154736, Statement 1 is false but Statement Il is true



Question Number : 19 Question Id : 70819116522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 1 ;DT GrFYIeq PN G T TF G5 e Seh weAe F9, Aona g (Base)
4% (terminal) T T F(A, GIGE T BT T FETT AT TIZA FAT #17 |
% 11 : (RGBT SRS, A4 Qe BT WSS H91E F §H 29129 SgAes |
TATE 42 TfEa WIWE, W% Ted TEd AFEd o[ W 34
Options :
20819154733, O 1 ST & 11 qraGiE o1
70819154734, 0 1 ST TS 11 TG e

70819154735, 2@ 1701 e & 11 fe

20819154736, OF 1 @ Tf& 115711

Question Number : 20 Question Id : 70819116523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A

>o0—o0 C
B

The logic circuit shown above is equivalent to :

Options :



|
I

70819154737. B )

Ao—{>0—

B o———

I

70819154738.

Ao— >0

Boe

T

70819154739.

A
B

[

70819154740.

Question Number : 20 Question Id : 70819116523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A

{>o—0 C

B

QAT AGF IS T (FLHHE ATSE 37

Options :

e — B

C

70819154737. B

Ao—>0 _
G

B o——ro :

70819154738.
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70819154739, B ° |
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B

70819154740.
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Question Number : 21 Question Id : 70819116524 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two solids A and B of mass 1 kg and 2 kg respectively are moving with equal linear

momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be T so the value of

A will be
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Question Number : 21 Question Id : 70819116524 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg 1% 2 kg ©99 551 G357 38 A W% B @ W (AM4F SACa[ O 9ife 34 =cel Frreq «fe

. A .
&9 Sg=e (K.E.), : (KE.)y; 23 = sfeces ATTET

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 22 Question Id : 70819116525 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T taS 991 F 9 (50" 7978 «uie 41eq a9 O 0.04 m WES 27| AWz SeEE Qe 5 49 38
WF GTHS IFG AT FA T, (SfeH TAuEd (v “f4qda 379 cm |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is %10~ 1 kg m%.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116526 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
9 6 kg WT# (T 2.4 m T GUTH T ATGE 7T (@F I 51 TATEHP O VP AT 2A | ATYEA
THG FAISIA AT WIF IIM TICFEA ACGH A ATE THF ACACF IHT G I9F 39
x10~1 kg m? |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

. . K :
2 atmosphere pressure is — ms 1. The value of x will be

ﬁ
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C THOT® 1 TGN B1o[® A 51 (oA, 9F FfHE T WP 9T B (rm.s.) T 2A

200 ms 1 | 127°C TR WF 2 TENGAT SIS (B APHA TG 900 B —— ms L | x T
\ 5’

Tq9 59 I

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each
other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116528 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7.2 km/ hr Blow 797 e 3977 Oreeq e <ife Ffarm1  @fen S9wa Braas oy, [T srerng
676 Hz T3 2+ &9 FLAAA T6A GRoNd W (Al F9F@ (beat) F=o9 139 T4 27
Hz | [3F3 *F9 @9 340 m/s |]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 26 Question Id : 70819116529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 puC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in f i%urc-. The magnitude of the electric flux through the square will be
~ x 103 Nm~=/C.

*+q

%
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 26 Question Id : 70819116529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



fSTw {ear T, 12 cm IE [AHE @61 35fT (@FHT 41 6 cm THOE +12 pC TAT G5
famo oy T4 CECR| AS(THT AT ore (AT @Affed wfearz (flux) T AT 27
x10° Nm2/C |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116530 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A cylindrical wire of radius 0.5 mm and conductivity 5 x 107 S/m is subjected to an electric
field of 10 mV/ m. The expected value of current in the wire will be x’w mA. The value of x
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 27 Question Id : 70819116530 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm T = Hfiqars (conductivity) 5 < 107 S/ m 9 9= g ?‘:ﬂ T E 10 mV,/m T &4«
Capfes (Fae 991 (20e| T TEAe Ha1Re YT AenfS (expected) T 2'q Pr mA | ¥ T T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 28 Question Id : 70819116531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,=10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the

circuit is £},

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



TIEF F™TRT wy=10° rad/s TFA7 CZRILF G57 1% LCR T THET (2071 Sfad TS
FEAHE 120 V T 5T TSH 2/ 16 W TSl 77| JEAoe ‘R I I 2T Q|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 29 Question Id : 70819116532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 cm.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

*« (vacuum) ¥ #[41, 3 GHz =139 e 5o S5l Wiz, TS [@gies MUTeF (Relative
electric permittivity) 2.25 T QAP EF TLIT GBS =A@ FATE| €@F TI25T TS TS G297
2’7 x10~2 cm |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

P, |

]
P; J

[Gain in dB=10 Iogm[
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GTE (@A (cable) T @51 0.1 kW T T (FS TEEE T4 (28| (FIECEE o7e) 20 km T (FIECEC
(ZET ZPFA9 (attenuation) — 5 dB/km | &EFTEE (Receiver) #1¥ 91 HUFeq HAel 10 W |
xd AT ET I

o)
[Gain in dB=10 log,,| -2 |]
Fi )

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

510 5.001

Chemistry Section A
Section Id : 708191642
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191922
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819154751, (A)- (€) and (D) only

70819154752, () and (D) only

70819154753, (€) only

70819154754, (44 only

Question Number : 31 Question Id : 70819116534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



T'qq AqNIEF TF TP
- R .Zz
(A) AT AHEF = =
n

(B) TEg, 1 Ifas WF T4 (FATOW WAR T ‘v’ o 72

g
(C) &b T g T ~AEwE FmRF o Z_;

n

P
(D) T3 T4 4TS Forar S I o 2_4
n

o Toea [ worE TEraaT Ted 5 3
Options :

70819154751, (&) (€) =¥ (D) 14

70819154752, (A) =< (D) 4

70819154753, (©) T4

70819154754, (A) TL

Question Number : 32 Question Id : 70819116535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I- 11 bond angles respectively in I; ion are :

Options :

70819154755, Linear; 180°



= = . : 5 '1 O 0
70819154756, Distorted trigonal planar; 135" and 90

70819154757 1-shaped; 180° and 90°

Trigonal planar; 120°
70819154758.

Question Number : 32 Question Id : 70819116535 Question Type
Correct Marks : 4 Wrong Marks : 1

I, SE & Mo S [ 11 CRIerq T JTHC
Options :

70819154755, TTACAaF; 180°

g UgemE 7oad; 135° 9F 90°
70819154756.

70819154757, L onarov; 180° S 90

70819154758, RN Aaread; 120

Question Number : 33 Question Id : 70819116536 Question Type
Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is Question Mandatory : No

: MCQ Option Shuffling : Yes Is Question Mandatory : No

Most suitable salt which can be used for efficient clotting of blood will be :

Options :

NaHCO,
70819154759, :

70819154760, 18HCO3)2



70819154761, LC13

70819154762, 104

Question Number : 33 Question Id : 70819116536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(TEE FEFATSLE (5FA THS AIZA (TAT SoHRITST FIG! T A :
Options :

NaHCO;4
70819154759, :

70819154760, MB(HCO3)2

70819154761, FeCl

70819154762, 1001

Question Number : 34 Question Id : 70819116537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
is :

Options :
70819154763, L1 > LiF ; MgO > NaCl

70819154764, HF > LiCl; MgO > NaCl



70819154765, HC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819154766.

Question Number : 34 Question Id : 70819116537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WW&EH@WWH’EW @ TAAIRF] G5 FA9 LRI

Options :
70819154763. LiCl > LiF ; MgO > Na(Cl

70819154764, HF > LiCl; MgO > NaCl

70819154765, HC1 > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819154766.

Question Number : 35 Question Id : 70819116538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :



Options :
70819154767, @)-(D), (b)-(ii), (c)-(iii), (d)-(iv)

70819154768, @) (1), (b)-(iii), (c)-(ii), (d)-(i)
70819154769, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819154770, @)-(H), (b)-(1), (S)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819116538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wiferal-11 T e Sifers1-1 S :
wiferel-1 SifeTat-11
(4rg) (wrrsfas)
() e () fereams
(b) (ii) CFETASA
() = (i) CPSETLE
@) fa= (iv) CaCEIEh
e eed o we T%T 5 340
Options :

70819154767, @)-(D, (b)-(ii), (c)(iii), (d)-(iv)
70819154768, @) (1), (b)-(iii), (c)-(ii), (d)-(i)

70819154769, (@)-(ii), (b)-(iv), (€)-(1), (d)-(ii)



70819154770, @), (B)(1), (c)-(iv), (d)(ii)

Question Number : 36 Question Id : 70819116539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819154771. Both A and R are true and R is the correct explanation of A

70819154772, Both A and R are true but R is NOT the correct explanatinn of A

70819154773, v 18 true but R is false

70819154774, A 15 false but R is true

Question Number : 36 Question Id : 70819116539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oS 151 O Ol @5 FewatE A o Srecoe @ e R Eener Bfee wa tarm)

fesrfe A: fgmes whEets 9% (9 2%y 05, [ @306 GO 1eTe AhRetd AE
e

FEI R TG (G STeeea #Tes ¢l |

SAATE Thed W[, Frre Reaasa ws Ted 5 341 |



Options :

20819154771, A ¥ R AT 78T A€ R 25 A T % 07 |

20819154772, A T R T 77 {37 R, A T 9% Jraw 72 |

70819154773, A T FFE R =T |

70819154774, A T 8 R T |

Question Number : 37 Question Id : 70819116540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GCsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819154775. (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

70819154776, (@)-(1), (B)-(iv), (c)-(ii), (d)-(3)
20810154777 @), ©)-(v), ()-(i), (d)-(iii)

70819154778, (@), (B)-(1), (0)-(iv), (d)-(iii)



Question Number : 37 Question Id : 70819116540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

sifers-1 7 wifer-11 7 v fraa

SifeT®1-1 SifeT=1-11

(sT4e) (Fererrer g/ @ 2sttwer)
(a) LiCl (i) 455.5 nm
(b) Na(Cl (i) 670.8 nm
(c) RbCl (ii) 780.0 nm
(d) CsCl (iv) 589.2 nm
e e @ wE Ted 5 364

Options :
70819154775, (@)-(Iv), (b)-(ii), (c)-(iii), (d)-(i)

70819154776, @)-(i1), (b)-(iv), (c)-(iii), (d)-(i)
20819154777 @), B)-(v), (©)-(i), (d)-(ii)

70819154778, (@ (i), (B)-(0), (0)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :
Options :
70819154779, VOGS0, is a reducing agent

70819154780, U0y 18 an oxidizing agent



70819154781. CryO; is an amphoteric oxide

Red colour of ruby is due to the presence of Co3t
70819154782. i

Question Number : 38 Question Id : 70819116541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

forrea fowas s B fT
Options :

70819154779, ¥ 904 <1 faeme Fef

70819154780, ROy BT THT Tl

Cr. 0, €5 Touydll sEmse
70819154781, 23 =

TS T (ruby) TT T I Co’ *+ T T
70819154782. )

Question Number : 39 Question Id : 70819116542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is the correct order of the following elements with respect to their density ?
Options :
70819154783, CF < Fe<Co<Cu<Zn

70819154784, Zn < Cr < Fe < Co < Cu

70819154785, Zn <Cu<Co<Fe<Cr



70819154786. Cr < Zn <Co <Cu < Fe

Question Number : 39 Question Id : 70819116542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T AT e (e v 79 F 7

Options :

70819154783, <f < Fe<Co<Cu<Zn

70819154784, Zn < Cr < Fe < Co < Cu

70819154785, Zn <Cu<Co<Fe<Cr

70819154786. Cr < Zn <Co <Cu < Fe

Question Number : 40 Question Id : 70819116543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCly |, [Co(C204)3 1"

and [‘\lnﬂi‘_ respectively are :
Options :
70819154787, 490, 0 and 1.73 BM

70819154788, 292, 4.90 and 0 BM

70819154789, 2-82, 0 and 0 BM



70819154790, 490, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCl, 2™, [Co(Cy0, ) |>~ 1 MnO?2~ T F a1 pri T (b1 ) T TRIarct -

Options :

70819154787, 490, 0 &< 1.73 BM

70819154788, 2-92, 4.90 =% 0 BM

70819154789, 2-82, 0 == 0 BM

70819154790, 490, 0 =¥ 2.83 BM

Question Number : 41 Question Id : 70819116544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819154791, Both Statement I and Statement Il are true

70819154792, Both Statement I and Statement 1l are false



Statement 1 is true but Statement 11 is false
70819154793.

Statement 1 is false but Statement Il is true
70819154794.

Question Number : 41 Question Id : 70819116544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 1:  “o@ aoEEE SETE 51eW (BOD)™ #&#[ I+ Sebq GEdq Gias 4FE ana SIae |
¥f& 1l: BOD I Wggered 9191 27 6.5 ppm |

SHATE Theq S, e [esd 41w Ted 5 3411

Options :

10819154791, 1€ 1 I Bf& 11 TG 7797 |

1081915470y, TT® 1 5T Bf& 11 TCGY =7y

E 3 K o
20819154703, &% | €% 72 Tf& 11 Py

70819154794 Sf& 1 wrwm g e 11 e

Question Number : 42 Question Id : 70819116545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :



70819154795.

: - 'ZHEMH2
70819154796.

70819154797.

70819154798.

Question Number : 42 Question Id : 70819116545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tq (TP (PO T2GT TR F0H NaOH 3 BEC0 pB-cP+{2ea #9e I8 96T T

FEq 7
O

Options :

70819154795.



: ,(IHENHE
70819154796.

CI—I3

Question Number : 43 Question Id : 70819116546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819154797.

70819154798.

Which one of the following compounds is non-aromatic ?

(]

70819154799, O

Options :

@

70819154800. ¥

70819154801. :



70819154802. I [ I

Question Number : 43 Question Id : 70819116546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G CPHT T S T- A9 5 7

Options :

70819154799, O

70819154800.

=]

B
70819154801. :
70819154802. I l I

Question Number : 44 Question Id : 70819116547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :



O
|

70819154803, CHa~C—H
?
|
—C—CH-CH
70819154804, <113~ € Zh

i

O
I
CH;—CH,—C—H

70819154805.

70819154806.

Question Number : 44 Question Id : 70819116547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9FFISTe HgSO, & H,S0, 7 T#fEfoe #1e e 3fq farare caenh scafdes @ «@fe s
AT 7

Options :
i
70819154803, 13~ C—H
O

[l
—C—CH,CH
70819154804, 1137 C 2-113

O

|

70819154805.



O

Il
CH;—-CH,-C—H
70819154806. g =

Question Number : 45 Question Id : 70819116548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl cl
NO,  NO; NO,
(1) (i) (i) (iv)

Options :

70819154807, {V) < (i) < (i) < (i

70819154808, (Iv) < (1) < (iii) < (ii)
70819154800, (@) < (i) < (iii) < (iv)

70819154810, V) < (1) < (i) < (iii)

Question Number : 45 Question Id : 70819116548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



wars Tl TsPTRd et e st fafem 1 aaree s Taan 275 -

cl
@ @/ \@Nﬂz
NO, NO,
(i) (ii) (i) (iv)
Options :

70819154807, V) < (i) < (i) < ()

70819154808, (Iv) < (1) < (iif) < (i)
70819154809, (@) < (i) < (iii) < (iv)
(iv) < (i) < (if) < (iii)

70819154810.

Question Number : 46 Question Id : 70819116549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the followmg reagent is suitable for the preparation of the pmduct in the above
reaction ?

Options :



NaBH,
70819154811.

@
70819154812, VH2 ~NH,/CH50Na

70819154813, W/ Ha

Red P +Cl,
70819154814. 2

Question Number : 46 Question Id : 70819116549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

53

Tare [feTR Tewd #EET aE e @ FeRs e 7
Options :

aBH4
70819154811.

&d
70819154812, N2 ~NH,/CH50Na

70819154813, /T2

29 P +Cl,
70819154814 2



Question Number : 47 Question Id : 70819116550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
mi-dibromobenzene ?

NO;, Br
- o L -
Br
Options :
Sn/HCI / KBr / Br, / H+
- o - -
70819154815.
NaNO, / HCl / KBr / H
- - - -
70819154816.
Sn/HCI / Bry / NaNO, NaBr
—_—
70819154817.
Br,/Fe ,/E“f”u../ NaNO,/HClI ;/CuBr,f’HBr i
70819154818.

Question Number : 47 Question Id : 70819116550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



TBHEAEAF m-TEg T AEAA A FETS 92F @4 [T w5 &9 5 7

NO, Br
- - - -
Br
Options :
Sn/HCI / KBr / Bry / H+
T - - o
70819154815,
NaNO, / HCl / KBr / H
- - - r
70819154816.
Sn/HCI / Bry /NaNDE NaBr
—_— = = ———————— =
70819154817.
Br,/Fe .,/F’“f”u../ NaNO,/HCI ;/CuBrIHBr e
70819154818,

Question Number : 48 Question Id : 70819116551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819154819, >ulphur

70819154820, Otrength



70819154821, Styrene

Su Iphnnatinn
70819154822.

Question Number : 48 Question Id : 70819116551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LA -G @, ‘S’ @-JFE

Options :

70819154819, EFwA

70819154820, & (Strength)

70819154821.

70819154822, 2 LR

Question Number : 49 Question Id : 70819116552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I and List - 11.

List - 1 List - 11
(a) Valium (i)  Antifertility drug
(b) Morphine (i) Pernicious anaemia
(c) Norethindrone (iii) Analgesic
(d) Vitamin B, (iv) Tranquilizer

Options :



70819154823, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819154824, (a)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819154825, (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
70819154826, @) (H), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819116552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifera - | W< Siferst - 11 framEr -

Sifera - 1 wiferat - 11
(a) Cefomam (i) o fras gu
(b) AT (i) =nifomE a@2Eer
(c) T aeETEH (i) T
(d) feofaB,, (iv) FHEaaE

Options :
70819154823, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819154824, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
70819154825, (@)-(1v), (b)-(ii), (c)-(1), (d)-(ii)

70819154826, (@)-(1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 50 Question Id : 70819116553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 1L
List -1 List - 11

0
I
(a) R—C—-Cl -R—CHO (i  Br,/NaOH

()  R—CH,~COOH —R—CH-COOH (i) H,/Pd-BaSO,
cl

O
Il

(c) R—C—NH,—>R-NH, (1) Zn(Hg)/Conc. HCI
O
I

(d) R—C—CHy —»R—CHy—CHjy (iv) Cl,/Red P, H,0

Choose the correct answer from the options given below :

Options :
70819154827, @)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

70819154828, (@)-(i1), (b)-(i), (c)-(iv), (d)-(ii)
70819154820, @ (i), (b)-({), (c)-(iv), (d)-(iii)
70819154830, @F(H), (b)-(iv), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819116553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Siferst - | 5F wiferast - 11 figam -
iferat - 1

0
|
(a) R0 SRECHO

(b) R—CH,—COOH — R—CH-COOH
|
Cl

]
I
(¢ R—C—NH,—>R-NH,

O
|
(d R-C-CH3 >R-CH,-CH,
feafafae Aemera ws baq v o1 -

Options :
70819154827, (@)-(11), (b)-(iv), (c)-(1), (d)-(i1)

70819154828. (a)-(iii), (b)-(i), (c)-(1v), (d)-(ii)
70819154829, (@F-(H), (b)-(1), (c)-(iv), (d)-(iii)

70819154830, @), (b)-(iv), (c)-(i), (d)-(ii)

Section Id :
Section Number :

wtfer=t - 11

(i  Br,/NaOH

(i) H,/Pd-BaS0O,

(iii) Zn(Hg)/ M5 HCI

(iv) CL/2e P, H,0

Chemistry Section B

708191643
4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191923
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116554 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of O, for
complete oxidation and produces 4 times its own volume of CO, is C IHH. The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116554 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a5 CTRIY TRGIET T, ATF T GRS ZALA G WA 6 BT O, TP 2 W (o Ao
4 87TCO, TH A, TACH, | y ITT T _ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L __ L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ ! mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116555 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C =% 740 mmHg 5191 4.75 g «fRbi3few (5T e Fa1 WaeT 279 _ _Li (5o
TS FHLYMS)

[T =2 R =0.0826 L atm K~ ! mol 1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001



Question Number : 53 Question Id : 70819116556 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %10~ L. The value of x is . (Integer answer)

[Given : A /G*(HC=CH)= —-2.04x 10°] mol 1 ; AG(CgHg)= —1.24 X 10° ] mol~1;
R=8314 ] K~ mol~1] "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116556 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o TS 4f e, 25°C © were faan RIFAEE log K I I 28 vx10°1 1 x I I 35
1 (Y FeYTe TEe)
3HC=CH {g}i ':._.E;H@U}
[fra =i AG°(HC=CH)= —2.04 x10° ] mol =1 ; AG*(CgHg)= —1.24 x10° ] mol ™! ;
R=8314 ] K~ mol 1] ;
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001



Question Number : 54 Question Id : 70819116557 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;; in 200 g of C.H
freeze is “C. (The molal freezing point depression constant of C H, is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116557 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

C H fafie 29 55°C © | 8 =@, 3 200 g C,H, © 10 g C,H,, T ¥d <1 BZwRe 77,
CEBITA ____ °Cl (CH, I V'@ s 9@ &9% 27 5.12°C/m)|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116558 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of P"bI2 is8.0x107°%. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ ® mol/L. The value of x is . (Rounded off to the nearest
integer)

[Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116558 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, I @IS @56 27 8.0x 107 | (& 2359 0.1 ¥'FF ¥ GBS (AT S ©IZTq G| Z'A
xx10~6 mol/LI x TG 2H | (FrEbeT Sde FeAme foren)

[T =meE 42 = 1.41]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116559 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
I 2303 RT
|:{_%Ivnn - ¥ = U_[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116559 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3fi 25°C T H* S sG@l 1M 7 7@ 10~ 4 M 3 3% 341 28 MnO,, / Mn?" @4 7 &7@9 wwr

T ARTET 2 2 x 104 | (47 o7 H* T o5 watfr #faca MnO; 9 Mn2* T siper az@
qF) x TAA 2 H | (Frabex =g Feams)

2303 RT
o E‘m e |:— = [].{]59]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 57 Question Id : 70819116560 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[T] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116560 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

oE TEE 25°C © oY &9 R[IEF 90 FEFE TAACIET (2 4% T WF I G UES A4, T
e 2@ 333 h |1 9h 7 ARS I G TEARB WA A [ | L:}gm[%]?ﬂ' T 2'HA

%102 | (FbeT wee A2Ame)
[4f @ : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 58 Question Id : 70819116561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is :

(A) a-sulphur (B) p-sulphu (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116561 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

RETEA o 4WE Tawe AIEd Teas FpIay (TY8dl TEFRd SaheE AN T
(A) o BEFFH (B) pB- =FFE (C) Sy~ =

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The total number of amines among the following which can be synthesized by Gabriel
synthesis is _

CH3~_~ : .
(A) CHx CH—CH—NIH (B) CH,CH,NH,

CHy—NH NHo
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116562 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TS WA @EE A, CNETEE AT Wl AEC F49 49 GWIAd [P WA ETA |

CHj
CHj

CHy—NH; NHy
© ©/ (D) ©/

Response Type : Numeric

(A) CH—CHy—NH) (8) CH,CH,NH,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 60 Question Id : 70819116563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durin%c:;
purification. Amount of acetanilide obtained after purification (in g) is ___ - | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116563 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g @feifear it A 4 «RrbtEes Teom wa | W TaeETe 10% AfEmers sl
AW e e oy @[ GRghhETe ATmE (g©) . x1072 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Mathematics Section A
Section Id : 708191644
Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191924
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = 9 is (20, b, —a—9), then |a+Db) is equal to:

|
5

Options :
70819154841, 84

70819154842, 86

70819154843, 88

70819154844, 2V

Question Number : 61 Question Id : 70819116564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. . Xx—3 y—2 z—1 » Sik,
4@ & a, beR | A —— = - gy A s AT HAICHACT P(a, 6, 9) RegCoE wea wfefas
F
(20, b, —a—9) 2q, (oM@ |a+b| TN ZT |




Options :
70819154841, 54

70819154842, 86

70819154843, 88

70819154844, 2V

Question Number : 62 Question Id : 70819116565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

a,c), (2, b) and (a, b) be 1—[] 5 . If @, B are the roots of the equation axZ+bx+1=0, then
3 3 1

¥

the value of a2+ B2—ap is :

Options :
69
70819154845, 226
&
70819154846, 226
69
70819154847, 220
By |
256

70819154848.



Question Number : 62 Question Id : 70819116565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
@ Z'H a, b, ¢ TG HMTTS (R 4q ZH (a, o), (2, b) IF (a, b) Ty AFE Tgwa sarawa

10 7 . :
?ﬂﬁt?illﬁmﬁ+m+hmﬁhW@??W%mﬁﬁh@ﬁf+§—¢aTﬂﬁm

Options :
69
70819154845, 226
71
70819154846, 226
&
70819154847, 220
71
70819154848, 220

Question Number : 63 Question Id : 70819116566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If Pis a point on the parabola y=13-+-4 which is closest to the straight line y=4x —1, then

the co-ordinates of P are :
Options :

(3, 13)
70819154849

70819154850. (2 8)



-2
70819154851. {—%#

70819154852, 1r 2)

Question Number : 63 Question Id : 70819116566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M y =22+ 4 W4T SoTS AT P GBI, y=4x — 1 (LA WIood 27, (S P 9 1T 2°7 ;
Options :

(3, 13)
70819154849,

70819154850. (2 8)

70819154851.

70819154852

Question Number : 64 Question Id : 70819116567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x ﬁy = 2+4/3 is the tangent at the point

{ W3 -1]
—, — 1>
, 2 2
Options :
xz-l-yz:?

70819154853.



x2 + Ql.rz: 0

70819154854
) 1 x
S
70819154855, 6v3
22— 18y3=9
70819154856,

Question Number : 64 Question Id : 70819116567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Eﬁﬁiﬂﬁ?ﬂﬁ?'ﬁEﬁﬁirﬁﬂ‘lﬁwﬁi

1 | -
, :;] RS B x + 3y = 24/3 @ quR =oxE 27 2

Options :

]
[}

70819154853.

2+ ‘:'Jyz =9
70819154854.

1

2_ —x

=7
70819154855 V3

2x2 - lﬁyz — 0
70819154856.

Question Number : 65 Question Id : 70819116568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3
The value of the integral, j[xz 2x —2|dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819154857, 2

70819154858, 4
70819154859, V2 -3 -1
70819154860. V2 - VB4

Question Number : 65 Question Id : 70819116568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

--II
i [x] = 5 TG A < x T (007 [[2” 20— 2]dx FTFO AT 2T :
1

Options :
70819154857, °
70819154858, — 4

70819154859. \E ﬁ .

70819154860.



Question Number : 66 Question Id : 70819116569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819154861, ~ P4

70819154862, ~ £ 1

70819154863, © 1

70819154864, P/~ 4

Question Number : 66 Question Id : 70819116569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~PA [ pPvq ] W W m’ 5,3 .
Options :
70819154861, ~ P ¥ 4

70819154862, ~ F

70819154863, ¢~ 4

70819154864, £~ 4

Question Number : 67 Question Id : 70819116570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations 1[:5';2E!-:’1 B2A?) X=0, where X is a 3 1 column
matrix of unknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819154865, 1o solution

70819154866, 2 Unique solution

70819154867, exactly two solutions

70819154868, infinitely many solutions

Question Number : 67 Question Id : 70819116570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4@ TH A S B G133 AR IGE G A0S A e 9% B f@w-mfie | (o0g (AZB2 - B2A2)

X=0, 7T, X @51 3x 1 TFHET 659 FE (TaFH OF O @51 3 x 1 AFEI 7 (Ter=s, HFd=1

SETACHM

Options :

70819154865, T L

10819154866, 90! ST ST AR

qE qhT A S |
70819154867. ‘:—[B{

70819154868. TR LA T SCE |



Question Number : 68 Question Id : 70819116571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f(2—x) for all

x € (0,2), f(0)=1 and f(2) =e”. Then the value of Jf{x} dxis :
L]

Options :

7
— e~

(=

70819154869.

2
70819154870, 1 ¢

] x
70819154871, 21 +¢7)

1 — o
70819154872, 21 €%

Question Number : 68 Question Id : 70819116571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

42 2'H [0, 2] WA [ (x) OB SEFHAT T TS [(x)=f' (2 —x), FHFCACEE x £ (0, 2) T q0F W

f(0) =19 f(2) =e2 T, (T [ fx) dv T T T
0

Options :

o i
70819154869, 1 —€°

2
70819154870, 1 T €



X
70819154871, 21 +¢€7)

P
70819154872, 21 7€)

Question Number : 69 Question Id : 70819116572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f(0)=2 and

1f@)  fe)

f(x) #0forallx e R. If o e = 0, for all x £ R, then the value of f(1) lies in the
; fix} fix) ’

interval :
Options :
©, 3)
70819154873.

70819154874. i)

70819154875, (& %)

9, 12)
70819154876.

Question Number : 69 Question Id : 70819116572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 A R E._.lrkﬂﬁ'._.lr”% FaG TS fl0)=1, f(0)=2"F f'(x) = 0 FFALIT x € R T ICTI Ik

If@ o
f&x Fix)
Options :

— () FPCEAAE x € R 9 0T 2, 0% f(1) T A5 4 LI 29 -




©, 3)
70819154873.

70819154874. %)

70819154875. (6. 9)

(9, 12)
70819154876.

Question Number : 70 Question Id : 70819116573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :
70819154877. @=1, b=1,¢c=0

a=1, b=0, c=1

70819154878.
70819154879, @~ ~ 1 b=1,¢c=1
1
a=—,b= l, c=1
] 2
70819154880. = £

Question Number : 70 Question Id : 70819116573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4q1 '8 y=ax’+bx+c, x € R @b & | I q&CH1CA (1, 2) Rogeq 7@ o1 y=x ToAqe @3
JICHILH bl GUTH =#R{(TA &, (G a, b, ¢ T AT T4 27



Options :
70819154877, &= 1. b=1.c=1)

70819154878.
70819154879, 2= ~ L b=1,c=1
1 1
a:_rb:—r(:: 1
2 2
70819154880. 2 2

Question Number : 71 Question Id : 70819116574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If n=21is a positive integer, then the sum of the series
sl o] e o o I e [P
Options :
n(n —1)(2n+ 1)
70819154881 6

.n{n +1)(2n + 1)
8]

70819154882.

.11(211 F1)(3n + 1)
b

70819154883.

.n{n I 'l)z(n + 2)
12

70819154884.



Question Number : 71 Question Id : 70819116574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M 1 =2 BT 4ATF S A, (@R, " Cy+2(2C, + Iy + 1C, ot C, ) refith e,

%] :
Options :
n(n—1)(2n+1)
70819154881. 6
.n{n +1) (2n + 1)
70819154882. 6
.11(211 +1)(3n +1)
70819154883 6
n(n 'ljz{n + 2)
12
70819154884.

Question Number : 72 Question Id : 70819116575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For the system of linear equations :

x—2y=1, x—y+kz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :

70819154885, () and (D) only

70819154886, (4) and (E) only

C) and (D) only
70819154887, &) 2nd (D) only

70819154888, ) and (E) only

Question Number : 72 Question Id : 70819116575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



x—2y=1 x—y+hkz=—-2, ky+4z=6, ke R,

At AT ANACOE AN, TAT SIS @A TA
(A) EFTACOT Sao” TIUW =CE, W k=2, k= —2
(B) EFMALLE Sfaod FA4 g, k= —2

(C) Ao Siaom FA4W ST, 3% k=2

(D) HeTHACHE AT 1% A% k=2

(E)  #TAICORE ST FRATF S W1, A% k= — 2
TS0% T (A & Fey 7

Options :

70819154885, 901 (4) ¥ (D)

T (A) IF (E)
70819154886.

OV EE (D
70819154887, —roo (C) =< (D)

70819154888, Cr (B) =¥ (L)

Question Number : 73 Question Id : 70819116576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as
55x, ifx<—5
f(x) = {2x°~ 32— 120z, if -5< x<4
227 — 332~ 36x — 336, if x >4,

Let A = {x e R: fis increasing}. Then A is equal to :



Options :

70819154889, (— % —2) Y (& =)

70819154890, (—3, —4) w (4, =)

70819154891, (— ©, —3) L (4, =)

70819154892, (2 *)

Question Number : 73 Question Id : 70819116576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

441 2’ f R — R 951 FoT, TS
5bx, ifx< -5
f(x) = {22~ 322 120z, if -5< x<4

2x°— 3x2— 36x — 336, if x > 4.

HMITHAA=|xc R:f YT, TO0E A AN 29 ¢

Options :

70819154889, (— *» —9) W (4 =)

70819154890, (—3, —4) U (4, =)

70819154891, (— %, =3 W (=4, =)

70819154892, (2 *)



Question Number : 74 Question Id : 70819116577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; 1 -1 V63
A possible value of tan( —sin ' —] is :
4 3

.,

Options :

70819154893, V7

70819154894.

70819154895.

70819154806, 22 — 1

Question Number : 74 Question Id : 70819116577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 i A3 ;
tan(zsin 1%] q FEE] I T
L

Options :

70819154893,

70819154894.



Ji

70819154895.

70819154806, 2¥2 — 1

Question Number : 75 Question Id : 70819116578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819154897, 360043 m

70819154898, 2400V 3 m

70819154899, 1500V 3 m

g
70819154900, 1200¥3 m

Question Number : 75 Question Id : 70819116578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ofie 431 @b 7 A 7 TTe @39 (wb e B @ tarE 6001 432 RFefig /et wave
20 TRLHS TAeq PR BT 30° IF sfeqdd 21 W wh e b g Swiee e, org
TR+ 379 T T ;

Options :

70819154897, 36003 m



70819154898, 2+00N3 m

| ]
70819154899, 10UV S m

.
70819154900, 120073 m

Question Number : 76 Question Id : 70819116579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + } + ,ij] — 1 and ;(; - 2}] — — 2, and the point (1, 0, 2) is :
Options :
r\3i+7]+3k)=7
70819154901.

r\i+7j+3k)=7

70819154902.
e-\i-7j+3k)=2
70819154903. 3
rli+7j+3k)=2L
70819154904 3

Question Number : 76 Question Id : 70819116579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



—

r i+ j+k)=19% 1.(i —2)) = - 2 e R @REE W (1, 0, 2) B @
ATGHIE (T3 q AAFANO1 2T ¢

Options :

F'(_S}' +7 .3;&):?
70819154901.

;(: H7 j .Ek]zy
70819154902.

7
70819154903, el

,_t
Ty
|
LS
%]
ol
[l

7
70819154904. 5

Question Number : 77 Question Id : 70819116580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@ (~q~(p—=9q)—=~p

® (PvaA~P)—q

Then which of the following statements is correct ?
Options :
70819154905, (a) is a tautology but not (b).

70819154906, (P) is @ tautology but not (a).

70819154907, &) #nd (b) both are tautologies.



70819154908, (@) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p I q T 55 A3, e (q@ieE TeEE @ 2

(@) (~qAr(p—>q)) = ~p

(b) ((pva~r~p)—q

(OTRE TFq (P & T ?
Options :

a) @B e, 5 (b) 7=
70819154905, " <51 *TeF T, [ (b) T2

70819154906, (D) SO FFE, 5% (a) 7 |

a) EeE Z o
10819154907, @) T (b) TC *[TFIE

a) "9EE (b ; gﬁ ;
20819154908, (2} ¥ (b) T PRI A |

Question Number : 78 Question Id : 70819116581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies lﬁ oy = bx*, then for

2 62
what value of b, Jf(ﬂdl' = ? ?
1

Options :



70819154909.

70819154910.

70819154911, 2

70819154912.

Question Number : 78 Question Id : 70819116581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i i - d i :
Tfi = f(x) WO (1, 2) e T T xf by = by, S AR T S, (g b A

r 62
mﬁ?m.ﬁﬁﬁfbgiﬁ?
1
Options :

70819154909.

70819154910.

70819154911, 2

62

70819154912, 2



Question Number : 79 Question Id : 70819116582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

65
70819154913, 2
65
Py
70819154914, <
135
0
70819154915, <
35
70819154916, 2

Question Number : 79 Question Id : 70819116582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1,2, 3, 4, 5} T2 SHME *[@1 AYGDEFd AL Fa1 G5! T#P1Eed (FTs T1@ 551 N9 UF[ Fefae
%59

Options :

Id|=T
%

70819154913.



70819154914, =

70819154915. =~

35
A7
70819154916. =

Question Number : 80 Question Id : 70819116583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :
Options :

3 squ its
70819154917, ©0v3 Square units

70819154918. 9./3 square units

70819154919. 1143 square units

12 sguare units
70819154920. l"ﬁ 9

Question Number : 80 Question Id : 70819116583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R=1{(x,y):52% =y <2x’+9 | (Fa¥H{ (FaFA 29
Options :



.5\."1.; o GFF

70819154917.

9.3 35t 9FF
70819154918, N3

113 o 959
70819154910, 113

1243 3of @73
70819154920, 12"

Mathematics Section B

Section Id : 708191645
Section Number : 6
Section type : Online
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Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191925
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819116584 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible valueof kis .

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 81 Question Id : 70819116584 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g 1051 FrefEs 72 1, 1, 1, ..., 1, k 9 o9@9 10 ©iF T 34, (0% k I 7FEE % I+ 29
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116585 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (—5, 0). If the locus of the point P is a circle of radius r, then 4rlis equal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116585 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

4q T F P G @51 7 q@ (5, 0) @ @1 P @g, (-5, 0) ga @ P A e g afw p R
AE[ 2 ¢ APNET G5 T8 IO, (A 42 AITHZT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116586 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)?>+ (y—3)>=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116586 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I 4T 1 TF TF (x —2)2 + (y—3)2=25 J&A (5, 7) Rqs b1 fsers o =opfeq 7@ sfie
fagehe Fife A 28, (o8 UATHETI |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116587 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(-1+ iV3)" (1 iV3)"

T b o

Let i=~—1.1f

= k,and n=[|k|] be the greatest integral part

of |k|. Then E(; I5 Z}(_} t5) isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 84 Question Id : 70819116587 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(~14 m (1 W3)"

@ i= V-1, T - — k S=F n=[|k|], |k| T D U ===
(1 ;_] (1+ i)
.n*5 5 nt+5
@@ Y (j+5F — D (j+5) IIMET
=0 =0

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116588 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students Sy, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116588 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S1, Sy ooer Sy T2EH BIES [ORGI 7' A, B WF C © GGWd Ao 341 (20T A0S ATOF e IS
GG BTE ATF TF C 7' A HSraz 3 & Td ATF, (0% (S0 7 & 515+ F4| FAHYF FEEq 724 3
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 86 Question Id : 70819116589 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n) ["C,, ifnzrz0
For integers n and r, let g :
I 0, oltherwise

The maximum value of k for which the sum

E(10)( 15 ) KA(12)( 13
Z{} i Nk f+Z{} i k41— ;) exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116589 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: n\‘_ nCrr AMnzr=0
n STRE r §OT S FYTF A4, 447 T A rJ 0, L

0% k 7 & W™ 9w T9 9a,
E(10) 15 ) &12)( 13 ]
; . .+; N | CerEehT e 7w, (of8 THT 2T
=\ i Nk—1 = I Wk+1—1
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116590 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 n'_,f'(i} = bx 4 E, x # 0, then the value of the expression
- :

X
f(x) ,_r(lj
X/ is

7
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116590 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2, x 20, 908 1 1/ qifE w1
X

W at+a=1, b+B=2 TF af (x) rx_,f'[lJ = bx
X

3’9 _ |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116591 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x — A= Zy— 1=—-27 and

-
W . .
x=y+2h=z—Ais — , then the value of |A| is _

r
242

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116591 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
qq ZF N G5 TG FAM W x—A=2y—1=—2z qF x=y+2A=z— A (AGEET T&q TTSH
=

w S

g, (9 II9 %59
lﬁ—ﬁzﬁﬂ,ﬂuf@h E

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116592 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

respective reciprocals is Ty [f the product of first three terms of the G.P. is 1, and the third

lerm is «, then 2o is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116592 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

) ' 65 e 65 :
ﬂ%@?ﬁﬁﬁmmvﬁwwml—jwﬁmmwmﬁ | T araTas
HAINLB 2T TR0 #I7a #[qerFet | oI PO *Wib o 24, (9% 2a%d |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116593 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e
The number of the real roots of the equation (x +1)%+ |x—5|= %
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116593 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

" o7
[x+1_]--+x--5=TﬂWWWF{EW§_’E B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



